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YoCouvert metrix o Assembly tile
Yload data *.mdl [ile

load g1030a.mat;

load g1030b.mat;

load g1030c.mat;

gateA=gateA";
gateB=pgateB";
gateC=gateC';

Yo GATH A
V_AN=gateA;
fort=1:16384
if gateA(t,2)>=1;
V_AN(2)=1;
else
V_AN(,2)=0;
end

end

YGate A included deadtine
VDt_AN=V_AN;
for t=2:16384
X=[V_AN(,2) V_AN(t-1,2)];
IfX==[10]
VDt AN(L2)=0;
VDt_AN(t+1,2)=0;
VDt_AN(+2,2)=0;
else
end
end

% QAT C
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V_CN=gateC;
for t=1:16384
if gateC(1,2)>=1;
V_CN(t,2)=1;
eise
V_CN(,2)=0;
end

end

Salzute O meluded deadtime
VD1_CN=V_CN;
for t=2:16384
X=[V_CN(t,2) V_CN(i-1,2)];
X==[10]
VDL CN(t,2)=0;
VDt_CN(t+1,2)=0;
VDt CN(t+2,2)=0;
else
end

end

Yo GATER
V_BN=gateB,
for t=1:16384
1l gateB(1,2)>=1;
V_BN(t,2)=1;
else
V_BN(t,2)=0;
end

end

YGate B melnded deadiinge
VDi_BN=V_BN;
for t=2:16384

X={V_BN(,2) V_BN(-1,2)];

54



ifX==[10]
VDt_BN(t,2)=0;
VDt_BN(t+1,2)=0;
VDI_BN(t+2,2)=0;

else

end

end

Yo GATE A INVERSE
Vinv AN=V_AN;
for t=1:16384
1IfV_AN({,2)==1;
Viny_AN(t,2)=0;
else
Vinv_AN(t,2)=1;
end

end

Yo Gale A inverse included deadtime
VinvDt_AN=Vinv_AN;
for t=2:16384
X=[Vinv_AN(,2) Viav_AN(t-1,2)];
if X==[10]
VinyDt AN(,2)=0;
VinvDt AN(+1,2)=0;
VinvDt AN(t+2,2)=0;
else
end

end

% GATE B INVERSE
Vinv_BN =V_BN;
for t=1:16384
if V_BN(t,2)=1;
Vinv_BN(,2)=0;



else
Vinv_BN(t,2)=1;
end

end

Sliate B inciuded deadiime
VinvDi BN=Vinv_BN;
for t=2:16384
X=[Vinv_BN(,2) Vinv_BN(t-1,2)];
WX ==[10]
VinvDt_BN(,2)=0;
VinvDt_BN(-+1,2)=0;
VinvDt_BN(+2,2)=();
else
end

end

Y GATE C INVERSE
Vinv_CN =V_CN;
for t=1:16384
1f V_CN(t,2)=1;
Vinv_CN(t,2)=0;
else
Vinv_CN({t,2)=1;
end

end

Y Gale C mverse mcluded deadtime
VinvDt CN=Viny_CN:
for t=2:16384
X=[Vinv_CN(t,2) Vinv_CN(t-1,2)];
IFX=[10]
VinvDt_CN(t,2)=0;
VinvDt_CN(1+1,2)=0;
VinvDt_CN(t+2,2)=0;
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clse
end

end

Yisately

for =1:3
VDt_ANG,2)=0;
VDt_BN(,2)=0;
VDt_CN(,2)=0;
VinvDt_AN(i,2)=0;
VinvDt_BN(I,2)=0;
VinvDt_CNG,2)=0;

end

Ycheck error

Cerror =0

for i=1:16384
CG=VD1_CN(,2);
CGI=VinvDt CN(,2);
C=CG&CGI;

if C==1, Cermror =-1

else
end

end

Y% wrile 1o [ile
code = fopen(c:\matlabr1 I\work\g1030.asm', 'wt");
up_bit={00'0501"1510"72%11%3];
down bit=[0000'0,0001'150010%25001 13,
01004,0101'5:0110'6;0111'7%
10008710019, 1010'A%51011'B";
1100C,1101D51110E;1111'F;;
fprintflcode, %os\n', ORG GOOOH?;
for j=1:16384,
X={VDt CN(,2) VinvDi_CN(,2) J;



Y=[VDt_BN(},2) VinyDt_BN(,2) VDt_AN(,2) VinvDt_AN(,2)];
for i=1:4;
if X==[up_bit(1,1) up_bit(i,2)],
v=up_bit(i,3);
else
end
end
tor i=1:16;
if Y==[down_bit(i,1) down_bit(i,2) down_bit(i,3) down_bit(i,4)]
g=down_bit(i,5}:

else

cad
fprintflcode, DB *);
fprintflcode, Yos%s%hs\',v,q, TT9;
end
{printf{code, %os\", 'end?);
st=iclose(code);
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1158 INIUAI1ZY fast fourier tranfrom , DF1 1A MHF12H THDY 2INN15NARDS

=Y
239

Y- it aﬁﬁtlysis from seope ci;ﬁe‘e
data=dlmread('c:\matlabr11\work\gd)_0Bv.xt";
Vift=abs(fft(data)).* ((sqrt(2))/(length(data)));
figure(1);

Vil=Vifi(2:350);

stem{Vt1);

axis({0 350 0 250D);

YATTIDY analbysts
THDv=100*(sgrt(surm((Vt1).*20)/VIi2 ,1)
Vims=Vi(2)

Vt1=(1:100);
Vrms=(sqri(sum(vt)."2));
Temp=0;

for e=3:10032

DF= sum( Vilt(e,)).*2/(e-1"2 );
Temp=Temp+DF;
Temp2=sqrt(Temp);

end

DFI1=100*(Temp2/VH(2,1));



Tilsunsadmsizy THDI 01NN 15NA899953

2 THIN analysts rom scope data
dfata=dhnread('c:\n1atlabr1 Nworkispwm 101, txt");
Ifft=abs(fft(data/1.15)).* ((sqrt(2))/(length(datas1.15)));
figure(1);
NI=IR(2:350);
stem(Tt1);
axis({0 350 0 1]);
I2=1ff(3:350);
THDi=100*(sqri(sum((1£2).~2)))/I1(2)
Falind PRI (AC DF for Second order Filler)
Temp=0;
for e=3:10032
DF=sum( Iift(e,:)."2/(e-1¥2 )
Temp=Temp+DF,
Temp2=sqrt(Temp);
end

DF1=100*(Temp2/Ifft(2,1));



T 5un 53393129 fast fourier tranfrom , DFL a2 395129 THDy 910 Simulink

“ePrograrn analysis THEY and DF froan simualink
Yatoad data *.mdl file
load spwm.mat;
load inputtemp.mat;
c=Van',
d=temp’;
for g=1:16384
a=c(q+16384.2);
d(g,2)=a;
end
V ifi=abs(fR(A(:,2))).* ((sqri(2))/ (length(d(:;,2)0);
figure(1);
Vil=VIf(2:350);
stem(Vtl);
axis(f0 350 0 200]);
% TH DY analysis
THDv=100*(sqri(sum((Vi1)."2)¥VIR(2,1)
Vimns=Vif(2)
vms=(sqri(sum(Vt1)."2));
% DL analysis
Temp=0;
for e=3:300
DF=sum( (Vt1(,:)"2}/ (€)*2) )%
Temp=Temp+DF;
Temp2=sqri(Temp);
end

DF1=100*(Temp2/V{R(2,1))

61



MANHIN U

Fydenluldsunsunuaual



63

qh

EA

Zwng

pung

wng

pubig
F
ZNPOIY ZRAEM BULS
> AN
X e Ry,
ubig
ange aut
Lenpolg _.NM_._ 1S
~ A
zubis BNEf BUIS
] Y,
anpolg
juejsuC]
»
' o

» TEOOENT S g0 {dod

v



64

podsuers] ._n_v_n_.

GIDIEIBNEY

asing 3331081

oy

Rl

U EIETIEYS)

ag|nd alawsiq

podsuerp

CIoJRIBUAY
asing 2051

HE|ag

i)

A L LIETTERY
@s|ngd 21319514

podsuery Lwng M.:l_l_H
Ra =
+

LIDIEIRUR S
asjn 4 a}2los

Aejag

J1]1]

a

[{GT-TEVTERS
as|nd a32s0%1(




65

ZRAEM FULS
omindy Zung i A\
IFuoRe|BY + x ™
= L_ + R Janegn auig
+
+ i} i
=3|nd 3jamsap
- angy, 2NIG
a
pojeladg fwng
1eusnERY - P
- rsue] g
=r
. & Ll
L
souanbag o+l uﬁﬁ:;m | +BULE
fungpaday b AL
|| 2 e
JoEladg h wng FRHMG
|Pucye|ay + ot —K
=¥ + i N - *
o +| YOI
=
+ L
o+ %,




S
RS
AT

e

66



[N

67



-

68



69



t'LPar;_'nmeiers"Di.s&été Pz Caievators - -
; R

i
S




-

B.llqck'.l?nrm-nutds : Swilt:'k

71



Block Paramefers: To Filé

| 2

72



73

adoasg

Zad 0l

1B Ww-auids

L2ftd ol

JE W g inads

zioipiadn
|[EuDE)aY

zanpoly

- [
T

Loypiadn
[eUoljE)=Y

4

TOABAR BUIS

JaY

1

\

e

JeRpoig

i

ajl4 o),

==

sousnbag
Bupeaday

101esad
|EUDIE |3y

ok

x

b ANEAN BULS

A

#

\

F 3

Pnpolg

1B ElUds

X

BNEAR BUIS

A A

JUEISUO

GEe’




S
\_

74



75



ey

gy







asmavguitliilunimaass

)
=
od . -
W - =
£ L. 3D 3
g2
43 ML ey
.
. ]__b
=S ] |
E | ﬁiﬂg
i Py B uﬁ
e e 3
‘ﬂz_‘m_‘.- ab ': "j“[:\/w
" PERRT ey — A
gi-‘fi:‘%. ayx ot i =
% Ej_m.'
}
™,
v
3
I],?g | gg
_L_‘Gi.'.::ln
LR,
o s
u}——l:—ic‘om aﬂl
2 : 5
[ =
B

aﬂ-ﬂ

o
gRAR

i



79

2905106 1nsi

£607%

e60F €80%
£60¥ :

di 100

{3

001

007+

L0OTL




80

:S.o\w
)

I905VVINN

ASI- o\
LEOVNE R
—
Ag Y
8% IFNI TIENT | 18
F n10'0 mmmmzwﬁlg HE ¢ %uﬁ e
I\ e | 2}

EC0OENSG

AST+

o[ LOVL
9¢ INg
00T
AGH





